- ~ RefNo, —EX/CI:/T/216/2018(S} -
B.E. CIVIL ENGG 2" YEAR 1%'SEM. SUPPLEMEN IARY E*XAf\,iINATlO N 7_0.18_
'SURVEYING-1I ' o
. o . _ .F.ull Marks 100
- Time: Threehours ' R _ - (60 marks for this part) .
' ' Useasoparate Answer—Scrlpt for Ulch pa:t o o
Part-l - o
. Questionno. I'is compuisory . .

Answer any two from the rest o
(Assume any data, if required, reasonably) -

S Write s_ho_ljtnotes_on the fo_llow_ing-_(aoy five): L "" - _‘ _" TR ‘(5?<4)‘.'—;20. '
1, Clasmﬁcatmn of triangulation survey

1L ‘Shlft correctlon _of atraverse in tr1angu1at10n survey

III. - The Subtense bar method in tacheometric survey

' .. IV.. .. Chromatic aberration mathoodohte telescope

Voo Extenswn of base lme i trlangulatlon survey _ .
VL Test and adjustment plate level. ax1s is not per pendloulal to. vemcal axis in theodohte

- VII. - Variation of “additive constant” in different types telescope of tacheometex .

b Determme the dlstance and elevation formula for tangentlal method of tacheomelry when both a.ngles i :

Carein elevation.

~.a)... On cither side of & wood: WO statlons A and B are Fixed S TE ._?ffd111'6"v”{f{ir'_1:g"_1ravélis'e_’i's run from A to'B

along the side of the wood.

Line ~Lengthinm | - Bearing
AC o 436 A3 |
-CD 665 | CTH0°30L
DB , 580 '=-’;1*ﬁ52° 40" -

From station D, a lme DE is camed into the wood on a bearmg of 168° 20‘ in order to ﬁx an ‘
,mtermedlate point E on AB. Determine the length of AB, EA and DE. o
' ' 14

6



3" -
: a) What is a ‘satellite station’ in.tt‘isingutation survey? Discuss about the four possible types of ‘satellite

s etati'(')n; ..in_triangulatien.snrvey. o
-b) Compute the value of the correctlon tp angle AOB for the phase error of cylindrical signals. The observed
ang!e at N 1s 19° 18 53" at Bis 56° 38 14" and at the sun is 76" 28’ 04" from an instrument station O,

7‘ wrth respect to a reference line. The dlameter of the cylmdncal signals both at A and B is 400mm.
"*D1stances of station A and B from O are 16500m and 27500m respectwely The pomtmgs are made on

- ; th_e brrght_hne. Also determine the corrected value of angle AOB.
| | | S 12

B "'-a) What w111 be the amount of error in- honzontal angle -measurement ‘if - line of colhmatlon 1s not

perpendrcular to the Trunnron ax1s‘? How the test and adjustment of vertical hair of cross harrs is done in

atheodohte‘? ‘
L 8
. .b) The followmg notes refer to part of a traverse survey _
X Lme ol Lengths inm . ~ Bearing
TRQ | 900 30725
QR : ':; 6496 T T 13947
RS- | 4288 232 38

Compute fhe drstance between a point A on PQ, and a pomt B on RS. Also compute-the bearing of hne

_ AB D1stance PA and RB are measured by an anallactic tacheometer (K—lOO) with horizontal lme of
- sight. The staff intercept for PA is 1.16m and same for RB is 2.87m.

12
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SUBJECT SURVEYING-II L
(Name in full)

_Tnne -Twe—hearef'l‘hree houre/Four—heel«vaSﬁ(—he&rs o o : R (410 me.lke for thls part) |
Use a separate Answer—Scrlpt for each palt

' No of’

e Question. Part II P RETEE Mal‘ks

Answer Questlon-l and any Two questlons from the rest o
QLYA) | F111 in the blanks W1th approprlate word(s) : _ B . | D 6%1=6 |-

‘&) Theangle subtended by a s1mple curve at 1ts centre is ca]led -------- ' '--.‘-43.-;‘ - 1
S h) The ratio between the centrlfugal force and the welght of A Vehmle is called e

) _The angle between the. rear tangent and the long chord 1S4 -
N dy A double float is requ1red for measurement of ...... ..... of any water 1
T . body.” . : B TV S

. f01 broad gauge railway trackis ..., .. . i, - : SR
) In tunnel survey “Welsbach Trlangle Method” 1‘3 adopted to ehmmate the_ o
error due L : et i Lo

Q1) B) State whether the under—mentloned statements ale True or’ False Wlth'._ 3“2=6
necessary. Justd:lcatmns : : Lo B : s

'a) Reverse curve is not eu1ted for meandermg path of hllly areae .
" b) Direct line method is recommended for. locating the. soundmg statmns--
when they ave scattered over the water body, : .
¢) Weishach triangle method is followed for traneference of levels m the'

tunnel
Q.:Z) a) Bstabhsh the fundamental expresemn for computmg the deﬂeotlon angle for : L]
- ‘0™ peg on a snnple cn."cular curve requ1red for “T uble_ Theodohtef g

Method” of eettlng outof sunple curve

I‘ull Malke 100 S

e} The mammum superelevatlon recommended under ext1 a—ordmary cond1t10n*i T R
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Questlon TN RN R
ol Q2) E “ b) Calculate the reduced Ievels (RLS) of various statlon pegs on. a vertmal curve _
R :-.Connectmg two uniform: grades of €0.78%) and (-0 55%). The chamage and the|. 8
1educed level at the point of mtersectlon are 446m. and 313. 57m respectlvely

Con31de1 thc 1ate of change of grade as 0; 1% pe1 30m, . - _

o . QS) | a) Estabhsh with the help of pertment expressmne “Shlft b1sects the transmon o

e capve and vice-versa®. - : ,- : i 6
'b) A transition curve is.to be inserted: between a tangent and the circular curve ok .8.

 in connection . Wl‘th the construction of a h1ghway The followmg data are

oo ol - provided. for settmg out-of the curve.
B R I 'Deﬂectlon Angle (A)=63°42" : . : : _

B i 11 -'-Mammum speed of’ the Vehlcle-— 84 Kmph e e ORI RO
(iif. Centrifugal Ratie=0.25 - SO B '
. iv. Chainage of the Vertex= 2569m ‘ : :

V 'Max1mum rate of change in: radlal acceleratmn—- 0 3mlsec3 g

= 'Calculate 1) Rachus of the c1rcu1ar curve 11) Length of the transmon curve 111)
b Shlft of the cuculal curve 1V) Total tangent length ' :

"‘-a) Descnbe the “Slmm 8 Method” gf transferrmg the surface centerhne _
S undelground with: the help of pertinent sketch. . : ‘ 6 -
b) An observer takmg soundmgs from a hoat Q) wished to locate his posmon
and measured with a sextant ‘the angles subtended 4t (0).by three pomts A,

B and C on the shore. The length AB and BC were scaled from the map and -8

- found to be 227m and 239m 'respectiveljr and the angle- I_ABC' was 122°36".
The: observed angles: L AOB and L.BOC were 38°45 and. 39°25 respectlvely
What are the dlstances of (G)) from A B and C'? - :




